
Solving Logarithmic Equations - Example 3

Example: Find the solutions of:

e−2ln(x) = 1
16

Recall Because they are inverses, eln(x) = x
But we have more than just eln(x) = x , we have e−2ln(x) on the left
How do we deal with multiplying by −2 in the exponent?

Recall One of our power rules for exponents is:
(bm)n = bm·n

So, we can re-write as:

We can simplify the negative exponent as: x−2 = 1
x2

Reducing denominators we get: x2 = 16
Which has solutions: x = ±4

Recall the domain of logb is (0,∞)
ln(4) is defined, but ln(−4) is not defined!

Conclusion: The solution to e−2ln(x) = 1
16 is x = 4

http://coobermath.com/Exponential_Functions/Logarithms/Logs_Intro.pdf
http://coobermath.com/Exponents/Properties_of_Exponents/Power_Rules_all_recap.pdf
http://coobermath.com/Exponents/Properties_of_Exponents/Power_Rules_Intro_Recap_Add_Sub.pdf
http://coobermath.com/Exponential_Functions/Logarithms/Logs_Intro.pdf
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